9. ADVENT OF THE EUROPEANS TO INDIA
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Ans.

granted ‘Dastak’ to the British.
List out the causes responsible for the
decline of the partuguese in India.

There were many causes responsible for
the decline of the portuguese in India. They

are !
. Possession of str ong navy by the Dutch

and the Enghsh

. :Portuguese government ofﬁcrals became
highly corrupt, loosmg.thelr loyalty
-'.~",,"Rehg1ous fanatlcrsm was the reason for.
thelr dedme e i et S ,‘
Wlth the declme of [f'gﬁayanagar Emplre =
?--:;thelr trade dechned : e -
S;What were the causesﬂi-that led to the
"j_declme of the French" e Ly

nsThe causes: that led to the declme of the

e french are ;-

~ 1. French army commanders in lndra were

not glven complete support by the

'Government of France

: ""2 Polltlcal confus1on and revolutrons took

- place in France
3. French navy was ot superror to the

“English Navy
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V. Match the following.

lf%ﬁuguese G "(a) 'Goa

2 DUtCh (' | () Pulicat
3 French (c) Pondlcherry
4 Enghsh (d) Calcutta

Ans ld 2-c 3-a 4~b
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